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Multiplique decimais por 10.100.1000

6,134 x 100 =

5,802 x 100 =

1,129 x 1000 =

8,524 x 1000 =

6,901 x 100 =

8,191 x 100 =

5,911 x 10 =

2,631 x 10 =

10,61 x 1000 =

6, 126 x 1000 =

Encontro: Data: Pontuagao:

9,064 x 1000 =

9,093 x 10 =

3,994 x 1000 =

3,202 x 10 =

2,517 x 1000 =

7,596 x 1000 =

3,785 x 10 =

4,938 x 10 =

6,642 x 10 =

5,747 x 100 =
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SE

Multiplique decimais por 10.100.1000

6,134 x 100 =613.4

5,802 x 100 = 580.2

1,129 x 1000 = 1129

8,524 x 1000 = 8524

6,901 x 100 = 690.1

8,191 x 100 = 819.1

5,911 x 10 =59.11

2,631 x10=26.31

10,61 x 1000 = 10610

6, 126 x 1000 = 6126

Encontro: Data: Pontuacao:

9,064 x 1000 = 9064

9,093 x 10 =90.93

3,994 x 1000 = 3994

3,202 x 10 = 32.02

2,517 x 1000 = 2517

7,596 x 1000 = 7596

3,785 x 10 =37.85

4,938 x 10 = 49.38

6,642 x 10 = 66.42

5,747 x 100 = 574.7
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